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i f-Hhish AT E REREEHEE PP HEAEKFRICLDHEE
B 4 R HEE=27.1, HEIJIFE=1838, #iE)IRE=(6, 11.5) -
iE)IFRE=11.5, EEIFE=106,
BB IFE=16, FIIfE=11.7
BT FETFIFRE=11.3 — BRIIUMFA],
EERRE)IIKREE[FRE]
wmEm BI8=8.1 HE)IFRE=(7, 29.5) EEERE)IIKREE[FRE]
=0 EE)IIFit=6.9 — —
Frm HE)IRi5=36 — BRNDMFE]
E3-30H BE)I715=35.6, K= )II515=9.1 — —
JIIEET BNIFRE=7.2, —E- KER)IFE=20.4 ¥4 )= (8, 25.3) BRINF]
=@M RE =227, F%)I5EH=134, RE)IFRE=(5, 22.7), —
FIF) =13 BEH)RE=(5, 13.4)
¥4 )87 ¥R )IFRkE=12.9 ¥4 ) 5RE=(5, 12.9) -
LB R IS IFRiE=41.9, BRE)I7E=16.2, — —
HRNIGTE=19.5
FHRZE LT BEmE=14, RE)FRE=10, BE)IRE=(5, 10), -
EWIFRI=20.4, = HIIIFRE=88, LR E=(5, 20.4)
WH)IFRE=10
FHE e REE=24.8, #EL)IFRigi=26, e RE=(5, 24.8), —
HaIR)RE=7.8, YTE)IIREE=20.5 FEWFRE=(5, 20.8),
IR = (5, 7.8),
TrE)IRE=(5, 16.4)
EZL) Pl )1 Rt=12.6, KFD)IIFRE=7.1, FrrE )1 R=(5, 12.6), -
RRiE=18.4 RIEFRE=(5, 7.1),
#IR)IFRE=(5, 18.4)
BT REM EE)IIFE=8, FiR)IFE=112, BER)IFRE=(6, 26.6), HRNERDLIGE =],
BIRJIFREE=18.7, Fi&)IIFLH=155, BIIR)IIFRE=(6, 15), ERIT R [(BEE]
EX)Rig=8.4 FHE)RiEg=(6, 12.4),
EXIIFEE=(6, 6.7)
i) IET mlRtEE=31.4, FEER)IIFH1E=9.7, miIlFRIE=(5, 25.1), -
IV =61 FE) &R )1 Risi=(5, 9.7)
2B BT mlFRE=31.7, £&)IlF15=5.8 — =
AT BT mlRtEE=22.2, #E0)IFRE=17, BANIFRIE=(5, 13.6), —
ANERJIRE=104 BRI RE=(5, 10.4)
1k FHET FHE)RE=28.4, tEAIIKE=224, FiE)IRE=(5, 22.7), —

KB WJIFRE=8.3, F3XIIFE=14.6,
TN GRIE=8.7

£ IR E=(5, 185),
ABWIIGRE=(5, 6),
A RE=(5, 11.7),
ST GRE=(5, 8.7)
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BERRE BHAET A I5E=20.1, FIE)I7E=6.3, BAE)II5EE=(5, 20.1), -
#F IR =8 FRIR)IIFE=(5, 6.3),
#PIRE=(5, 7.7)
TG RIFFI =108, #&)IIFRi5=4.8, I IRE=(7, 54.3), mENTFRIER]
BARNIRE=73, FEILANIFRE=12.2 Bl FF)II k= (5, 10.8),
7a)115%18=(6, 3.8),
EB)IGRE=(6, 5.8),
SREILSIFRE=(5, 85)
=K EFE)IRE=25.6, FZ)IFKEH=204 nEIFEE=(5, 38.4), e R (RG]
21| 7RE=(6, 20.5)
=10 REINAIGRE=13.6, X)IFRE=11.2 — mENTFRIER]
INEFTH T NIGRIE=6.8, FEEF)IFRIE=1138, ey = (5, 34.6), SIS A3
BE)IFRtE=16.6 FREF)IiE=(5, 9.4),
BE)iE=(5, 13.3)
ik BREFIGRE=16.2, FEJIFREH=13.5 FREF)IGRE=(5, 12.3), -
T B )II5RE=(5, 10.3)
hnE HENRE=196, FBIIGE=12.2, nEIRE=(5, 37.3), PN AL T3]
ZH)IRE=15 RE)IFiE=(5, 19.6),
FE)IIGRE=(5, 104),
=E)IFRE=(5, 7.5)
FRsEHT EHFRE=27, 2)lRE=-64 — —
TBEEET E#)I5E=6.4 — —
B IERR™ KIIFE=10.1, fR15)IFRE=7.9, ER)IFRE=(7, 33), ERIITRIES]
JKENIFRE=9.2, Zail)IIFE=20.3, mFE=(7, 27.1), EEEWIIKRTIFELE]
EAENIFE=11.5, KEBE)HRE=9.2, XIlFEEi=(5, 10.1),
MREJIFRE=13.2 fais )= (5, 7.9),
JKEIFRE=(5, 9.2),
ZHi1)11 5= (5, 20.3),
B )IIFRE=(5, 11.5),
K imsE=(5, 9.2),
ME)IFRE=(7, 13.2)
HHE™ K5 )IIFRE=11.3 — -
g™ EB)IFE=8, XF)IIE=122 F3B)I5RsE=(5, 24), EERTE)IKRTFREN[LE]
RB)I5EE=(6, 6.4)
=20 FREJIFiE=14.8, B4 718=9.9 FHE) = (5, 7.9) BRI TR (ER)
AFET KiEERE=7.8, #EIIRE=145 KERRE=(5, 7.8), EBHRINTRE]
WRE)IRE=(9, 14.5)
t ERET TF1&)I151=35 RE/IFE=12, REIFRE=(5, 11.8), EEETENKRFEI[LE]
B )I718=9.6 2 5RE=(5, 9.6)
P MAT R )FI=9.5, MANIFRiH=23.3 #BE)I3FiE=(5, 9.5), —
IMAR IR = (5, 20.9)
mhbHlh ZRIFRE=25 KXBIFRE=15.7 ZRIGRE=(5, 25), -
A BJIIFRE=(5, 15.7)
P BR)FE=11.7, T F15=9.2 BRNIFELE=(5, 11.7) -
[EEE 3= 2E™H B IFRE=15.6, FaZE)IIFakEh=119, A= (7, 29.1), AW 8],
ANANGEE=104, TE)IFRE=11, HA)IRE=(5, 205), HAN[FAR]
I\RR)IIFRE=4.4, KE)IIFRE=14.2 B )IIRE=(7, 12.5),
TREE)IIRE=(7, 9.5),
ANANIFE=(5, 10.1),
FENRE=(7, 8.8),
I\ GRiE=(6, 4.4),
AHJIIGRE=(5, 11.8)
&HT FHIGRE=269, #:2)11;15=105, KEIFE=(8, 21.5), -
EAIFE=14.5 )= (8, 84)
#m R AT EHJIFRE=227, A3})IFiE=11.6, REIFRE= G, 227) -
Kip)1FE=7.3
{EEmEED #RM AL)7E=43.3, /\K]IIFEH=186, ALRIE= (5, 34.6), —
KEJIIFRtEH=253, /ME)IFiiEi=8.8, J\RIIIFRE=(5, 14.9),
BER)IRE=14.4, BBIE)I|5R1i5=11.6 KEIGRiE=(5, 24.8),
IME N FRiE=(5, 8.8),
BRIE)IRig=(5, 11.6)
sk mlRiE=14, FLW)IFRE=255, FALJIRE= (5, 25.5) —

MFMRIE=125, SmL)IFRE=133

W@ Fs= (5. 12.5)
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